. VCE & PDF https://www.pass4itsure.com/c1000-148.html
g 2024 Latest passditsure C1000-148 PDF and VCE dumps Download

PassditSure.com

C1000-148R%As

IBM Cloud Pak for Business Automation v21.0.3 Solution Architect

Pass IBM C1000-148 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4itsure.com/c1000-148.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest C1000-148 Dumps | C1000-148 PDF Dumps | C1000-148 VCE Dumps 1/6


https://www.pass4itsure.com/c1000-148.html
https://www.pass4itsure.com/c1000-148.html
https://www.pass4itsure.com/c1000-148.html

VCE & PDF https://www.pass4itsure.com/c1000-148.html
a 2024 Latest passditsure C1000-148 PDF and VCE dumps Download
== / PassditSure.com

QUESTION 1

Which statement describes User Management Service Teams?

A. An option to perform authorization on behalf of the apps and components

B. A company-wide API tool thatmanages business-oriented user KPIs

C. A company-wide user registry with many groups

D. A collection of users, groups, and other teams to administer global units across different Cloud Pak components

Correct Answer: D

QUESTION 2

Which product can be used by a business analyst to configure an ontology?
A. Business Automation Insights

B. Business Automation Studio

C. Datacap

D. Business Automation Content Analyzer

Correct Answer: A

QUESTION 3

Which statement is true concerning the REST integration ability provided by Business Automation Workflow?

A. Calling the REST service in a service task as part of a service flow is dynamic and does not need service discovery.
B. Unlike SOAP web services, REST services do not have a "server" configuration entity.

C. Calling REST services through JavaScript can happen only after a corresponding external service has been defined
through service discovery.

D. When a REST service URL changes, service discovery happens automatically to replace the existing service.

Correct Answer: C

QUESTION 4
In a workflow of multiple tasks, when a process task is finished, which element is correspondingly generated?

A. Active summaries
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B. Time series
C. Anonymization rules
D. Completed summaries

Correct Answer: C

QUESTION 5

Which feature in OpenShift Container Platformallows developers to seamlessly provision resources provided by a
variety of service brokers?

A. API Server

B. Service Catalog

C. Container Registry
D. Docker Hub

Correct Answer: B

QUESTION 6

Which capability can be used to share JSON schemas across platform capabilities?
A. IBM Automation assets

B. IBM Automation REST

C. IBM Automation JSON

D. IBM Automation repository

Correct Answer: A

QUESTION 7

Which identity governance and access management method is pre-integrated with the starter deployment of Cloud Pak
for Business Automation?

A. SAML
B. SSO

C. LDAP
D. OpeniID

Correct Answer: C
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QUESTION 8

What configuration is needed to allow access to case information on an external Filenet system for a Business
Automation Workflow (BAW) user?

A. Single sign-on between Filenet and BAW must be configured.

B. The userauthorization needs only be set on Filenet and is propagated automatically when integrating with BAW.
C. The user authorization needs only be set on BAW and is propagated automatically when integrating with Filenet.
D. If Filenet and BAW depend on different LDAP servers, the user must exist in both of them.

Correct Answer: C

QUESTION 9

Howdoes FileNet Content Manager know when Content Analyzer has finished processing the documents?
A. Content Analyzer calls the FileNet call-back API.

B. FileNet periodically checks to see whether processing is done.

C. FileNet listens to the Content Analyzer JMS queue.

D. Content Analyzer stores the result documents to-dos.

Correct Answer: D

QUESTION 10

What is the underlying platform ofAutomation Digital Worker Skill Development?
A. NodeJS

B. Python

C. Ruby

D. Java

Correct Answer: A

QUESTION 11
Which of the following is unique for each User Management Service Team?

A. Team ID and users

Latest C1000-148 Dumps | C1000-148 PDF Dumps | C1000-148 VCE Dumps 4/6


https://www.pass4itsure.com/c1000-148.html
https://www.pass4itsure.com/c1000-148.html
https://www.pass4itsure.com/c1000-148.html

VCE & PDF https://www.pass4itsure.com/c1000-148.html
a 2024 Latest passditsure C1000-148 PDF and VCE dumps Download
== / PassditSure.com

B. Display name and description
C. Team ID and environment
D. Resources and environment

Correct Answer: C

QUESTION 12

What is the minimum OpenShift 3.11 cluster configuration needed for a medium or large Cloud Pak for Automation
production environment?

A. 3 master. 2 compute nodes, 2 etcd nodes, 3 infra nodes
B. 1master, 2 compute nodes, 2 etcd nodes, 2 infra nodes
C. 1 master, 3 compute nodes, 3 etcd nodes, 3 infra nodes
D. 3 master, 3 compute nodes, 3 etcd nodes, 3 infra nodes

Correct Answer: C

QUESTION 13

What is the most suitable use case for applying machine learning with Business Automation Workflow?
A. Decisionmaking for each step in a business workflow

B. Identification of missing steps in a business workflow for optimization

C. Recommendation of risk event based on predicted next step in a business workflow

D. Identification of a change in the business rules of the organization

Correct Answer: A

QUESTION 14

In OpenShift Container Platform, if a pod goes down, which componentcommunicates the failure to the master?
A. HAProxy

B. Kubelet

C. API Server

D. Service Proxy

Correct Answer: A
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QUESTION 15

Which component is mandatory for Cloud Pak for Automation installation if single sign-on needs to be enabled?
A. OAuth 2.0 Service

B. User Management Service

C. Registry Service

D. NavigatorService

Correct Answer: D
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